M12B3 Lecture 7 (CO2) Dr. Wolkowicz Jan. 21

$$\int 11.2 \quad \text{Series}, \quad \text{cort}^{1}d.$$

 $\sum_{i=1}^{\infty} a_{i} \quad \text{converges} \quad \text{if the}$

 $\sum_{i=1}^{\infty} a_{i} \quad \text{converges} \quad \text{if the}$

 $\sum_{i=1}^{n} \sum_{i=1}^{n} a_{i}, \quad \text{converges}$

 $\sum_{i=1}^{n} \sum_{i=1}^{n} \sum_$

$$\begin{aligned}
& \int_{i=1}^{\infty} \frac{1}{4} = \sum_{i=1}^{\infty} \frac{1}{4} \left(\frac{1}{4}\right)^{i-1} \\
& i=1 \quad i=1 \quad i=1 \quad i=1 \\
& = \frac{1}{4} \quad r = \frac{1}{4} < 1 \\
& = \frac{1}{4} \quad \left(\frac{1}{1-\frac{1}{4}}\right) = \frac{1}{4} + \frac{1}{3} = \frac{1}{3} \\
& = \frac{1}{4} \quad \left(\frac{1}{1-\frac{1}{4}}\right) = \frac{1}{4} + \frac{1}{3} = \frac{1}{3} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-n}}{n=1} = \frac{2^{n}}{3} \left(\frac{2}{3}\right)^{n} \\
& = \sum_{n=1}^{\infty} \frac{3(\frac{2}{3})^{n}}{(\frac{2}{3})^{n}} \\
& = \sum_{n=1}^{\infty} \frac{3(\frac{2}{3})}{(\frac{2}{3})^{n}} \\
& = 2(\frac{1}{1-\frac{2}{3}}) = 0 \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{2}{3})^{n}} \\
& = 2(\frac{1}{1-\frac{2}{3}}) = 0 \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& = 2(\frac{1}{1-\frac{2}{3}}) = 0 \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& = 2(\frac{1}{1-\frac{2}{3}}) = 0 \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n}} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1-\frac{2}{3}}{3})^{n-1}} \\
& \int_{i=1}^{\infty} \frac{2^{n} (3)^{i-1}}{(\frac{1$$

 $4.238 = 4.2 + 38 + 38 + 38 + . - 10^{3} 10^{5} 10^{7}$ $= \frac{42}{10} + \frac{38}{10^3} \left(\begin{array}{c} 1 + \bot \\ 10^2 \end{array} + \left(\begin{array}{c} \bot \\ 10^2 \end{array} \right)^2 + \frac{1}{10^2} + \frac{1}{10^2} \right)^2 + \frac{1}{10^2} +$ $= 42 + \frac{31}{10} \left(\frac{1}{10^{2}} \right)^{n-1}$ $a = \frac{35}{10^3}$ $r = \frac{1}{10^2}$ ۲١. $= 42 + 38 \left(\frac{1}{1 - \frac{1}{100}} \right)$ 10 1000 $\left(\frac{1}{1 - \frac{1}{100}} \right)$ = 42 + 38 = 209810 = 990 = 495Telescoping Sum n=1 n(n+1) $S_n = \leq_{i=1}^n \prod_{i \in (i+1)} = \leq_{i=1}^n (1 - \prod_{i \in i+1})$

Sn = (1 - 1) + $\cdots + (1 - 1)$ = 1 - 1 (lots of n+1 cancelation) $\lim_{n \to \infty} S_n = \lim_{n \to \infty} \left(1 - \bot \right) = 1 - 0$ CONVERGENT. TEST for DIVERGENGE. If lim an #0, then 2 an is DIVERGENT. Why? Assume Zan CONVERGENT. $\lim_{n \to \infty} S_n = L, \lim_{n \to \infty} S_{n-1} = L$ $\lim_{n \to \infty} S_{n-1} = \sum_{i=1}^{n} a_i - \sum_{i=1}^{n-1} a_i$ $= (a_1 + a_2 + \dots + a_n) - (a_1 + a_{27} \dots + a_{n-1})$

 $S_{n-}S_{n-} = G_{n}$ $\lim_{n \to \infty} (S_n - S_{n-1}) = L - L = 0$. n-)00 · lim an =0. $h \rightarrow p \sim$.. If lim an 70, the n-) ~ Scries DIVERGES Example. $\sum_{n=1}^{\infty} \frac{n}{n+1}$, $a_n = \frac{n}{n+1}$ Since an ->1 +0. the series DIVERGES Example · 2° (-1) n i = 1 n $G_n = (-1)$ lim an 70 ··· Series diverges フリイ

January 21, 2020 12:04 PM BEWARE: If lim an =0, **N->>** the test is inconclusive. It does Not mean the series converges. 10 $\Sigma = \infty$ Example. $n \ge 1$ DIVERGES harmonic series. even though an = n. lin an = 6 $\dot{h} = 1 + \frac{1}{2} + (\frac{1}{3} + \frac{1}{4})$ 1=1 Sz 54 + (ちょち+キャータ) > + + + + + + = 4(+)

January 21, 2020 12:10 PM $S_2 = 1 + \frac{1}{2}$ $S_{4} > 1 + \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2}$ Sg>1+ 2+2+2=1+3(-2) 6-3 $S_{n} > 1 + n(\frac{1}{2})$ lim Sn = 00 n-)00 .. Sh DIVERGES i = 1 Rules for Serves. If <u>San and</u> <u>Sbn</u> are CONVERGENT, then. so are 3 (an+bn) $2(an-b_n)$ Zcan (CER.)

January 21, 2020 (i) $\frac{1}{2}(a_n+b_n) = 2a_n+2b_n$ ii 2(an-bn) = 2an-2bn ii Zcan = cZan. NOTE: a finite # of terms does not affect the convergence or divergence of a series If 2° an CONVERGES, h=4 then Zan CONVERCIS a, +az+az +ay is finite.